LABJNDu1-triangle lightness T*
= with Y,=L*, ~ =100,
LABJNDul-triangle lightness for colours with T%,=-439
T*L aganDu1 =A2nlIN[(A 17+A20Y)VA 0] (Y/100<Y<=Y,)

*=-642,T*,=-439,T*,=-179,n=0,66,A,=Q,017,A,=0]
T*90-T*u=259,61, fakj=0,1000, Al ,17 07 *A0D65=0,6
T*18-T*u=-0,00, AOn=0,666, Aln= ,0;]' 2n=0,003
T*04-T*u=-192,49
T*03-T*u=-219,62
T*u=-439,62

application
range

VN # Y,=18
'J:-:-t-:-:-::

CEE21-1N
log AY LABJNDu1-
AY tristimulus value difference
with Y,=L*, =100,
T*Laganbu1 =A2nlIN[(A 17+A2,Y)VA 2] (Y2/100<Y<=Y)
LABJINDu1-tristimulus value difference
(dYFA(A1ntAn YAz, A1,=0,017, A,=0,0058, A=]
d919D68, 237 K-for1A0ecAGHE, 2602 NED65=0,666
dy18=0,05, AOn=0,666, A1n=0,011, A2n=0,003
dY04=0,01
dY03=0,01

T4,2-439 d¥;=0,05 d¥,/Y,=0,006 [+~ _ _
== ========"=====a’ gpplication
og(dY)=0,05 m,=0,85 o 1 range

1
JeA Y18
1

CEE21-3N

log (AY/Y) LABJINDu1-
_ tristimulus value sensitivity

S=(@YH) with Yo=L*y, - =100,
T*Laganbu1 =A2nlIN[(A 17+A2,Y)VA 2] (Y2/100<Y<=Y,)
LABJNDul-tristimulus value sensitivity

dY/Y=Aon[(A1n+A2nY)/Aznl/(Y)
(dY/Y)900,00, fakj=0,1000, A0=0,1000, AOD65=0,666
(dY/Y)18/u0,00, AOn=0,666, A1n=0,011, A2n=0,003
(dY/Y)04/u0,00

(dY/Y)03/u0,00 —
application

CEE21-5N

LABJINDu1l-
tristimulus value contrast

GO Yi=L* - =100,
T*Laganbu1 =A2nlIN[(A 17+A2,Y)VA 2] (Y2/100<Y<=Y,)
LABJINDu1-tristimulus value contrast

(YIAYEY/A on(Asr+AznY)Az]

439 dY,=0,05 Y,/dY,=336
[ - ==

| log(Y/dY)=2,52 m;=0,13 ».* '

| P [

(Y/dY)90379,47, f~'.,=5,1000, A0=b,1090-ACD65=0,64

(Y/dY)18336,96. .A0n=0,666, A1n=0,0appAcAtian 003

(Y/dY)04226,13 1 range

Y/dY)03198,19 . -

giv“:r)] 05 Yn=4 1Y,=18
Ll T

CEE21-7N
CEE21-7N

TT*, relative LABINDul-triangle lightness T*
e with Y,=L*, ~ ,=100,
u

relative normalized LABJNDul data
LABJNDu1-triangle lightness for colours with T*,=-439
T*L ABINDu1 =A2n[IN[(A 1n+A2nY)l/A 2n] (Ya/10Q<Y<=Yy)
T*90-T*u=259,61, fakj=0,1000, A0=0,1r 07 *A0D65=0,6
T*18-T*u=-0,00, AOn=0,666, A1n=",0".1 'AZnZO,OOS
T*04-T*u=-192,49

T*03-T*u=-219,62

application
range

Vi o 1Y=18
'J:-:ﬂ'-:-:-: —

CEE21-2N

log(AYIAY,) relative LABJNDul-
AYIAY tristimulus value difference
u with Yp=L*, =100,

T*LaBaNDu1 =A2n[IN[(A 17+A2,Y)l/A 0] (Y,/100<Y<=Y,)

relative LABINDul-tristimulus value difference
(AdYY(dY)=Aonl(A 1ntA2nY)/A2nll (dY),
dY*90/dYu=4,43, fakj=0,1000, A0=0,1000, AOD65=0,6|
dY*18/dYu=1,00, AOn=0,666, A1n=0,011, A2n=0,003
dY*04/dYu=0,33
dY*03/dYu=0,28

CEE21-4N

log [(AY/Y) | AY/Y)] relative LABJNDul-
tistimulus value sensitivity

SSu=OYMIBYI) v =%, - =100,

T*LaBaNDu1 =A2n[IN[(A 17+A2,Y)l/A 0] (Y,/100<Y<=Y,)

relative LABINDul-tristimulus value sensitivity
(AY/YY(dYu/Yu)=Aonl(A 1n+AonY)/Aznl/ Y((dY)/(Yy)
(dY/Y)90/u0,88, fakj=0,1000, A0=0,1000, AOD65=0,66
(dY/Y)18/u1,00, AON=0,666, A1n=0,011, A2n=0,003
(dY/Y)04/u1,49
(dY/Y)03/u1,70

I dYu=0,05 .

I ~

application
% range
P L

-
log[(dY/YY(dY,/Y)]=0, m=-0,13 1
TH;=-439 d¥;=0,05 dY,/¥;=0,0029 !

Yy=4 0 'Y,=18

CEE21-6N

relative LABIJNDul-

log [(Y/AY) / (Y/AAY,)]
tistimulus value contrast

CrlCru=(YIBV(Y/AY) v ={*, =100,
T*LaBINDu1 =A2n[IN[(A 17+A2,Y)l/A 0] (Y,/100<Y<=Y,)
relative LABINDul-tristimulus value contrast
(YIYY(Y(dY)=YAon(ArntAonY)/Aznl/ ((Y),/(dYy)
(Y/dY)90/u1,12, fakj=0,1000, A0=0,1000, AOD65=0,66
(¥/dY)18/u1,00, AOn=0,666, A1n=0,011, A2n=0,003
(Y/dY)04/u0,67
(Y/dY)03/u0,58
dYu=0,05
10g[(Y/dY)(Y,/dY;)]=0, m,=0,13
e e el X
o = -
: T*,=-439 dY;=0,05 \g’/dy;_uo ' applcation
, range
= 1y =
Yy =4 Y,=18

CEE21-8N




